-

BASEPLATE

CN601 NUT FLOATS
.030 FROM CENTER

|—

~— R MIN
OPTIONAL PRIMER

THIS SURFACE

_— THREAD T
THREAD LOCK BY :
H ELLIPTICAL DEFORMATION I
H- H- D DIA
\ ot NUTPLATE ATTACHED
\— CNB02 CLIP MAY BE A i
REMOVED WITH PLIERS
/\To REPLACE NUT
MFG. 1.D. /
2 DISPOSABLE ELASTIC
FIXTURE HOLDS NUTPLATE \UJ
WHILE ADHESIVE CURES.
THREAD AND DIMENSION DATA (ALL DIMENSIONS BEFORE PAINT)
v ls ol vl & MINIMUM AXIAL | APPROX.
PART NUMBER | THREAD T v | vk | v | v | sy | U DI | TENSILE STRENGTH | WEIGHT
(LBS) (LB/100)
CN60ICRO8 | .1640-32 UNC | .745 | .454 | 224 | 250 | .070 | .164—.224 1720 54
CN6OICR3  |.1900-32 UNF 2460
Gueoacrsar T Te00 ar UnG | 746 | 404 | 250 | 250 | 070 | .190-.250 T 57
CN6OICR4 | .2500—28 UNF 4580
Gneoacrias T aa00 a0 Une | 48 | 894 | 312 | 295 | 070 | 250-312 e 1.04
CN6OICR5 | .3125-24 UNF 7390
Geoare s T aToe s UnG | 1042 | 650 | 375 | 344 | 070 | 313-375 S 152
BASEPLATE. MATERIAL AND FINISH DATA NOTE: APPROX. WEIGHT WITHOUT INSTALLATION FIXTURE
CODE [MATERIAL | FINISH SUBSTRATE
CR |A—286 CRES | PASSIVATE N
NUT MATERIAL AND FINISH DATA (SEE CN601) j;
CODE [MATERIAL | FINISH | LUBRICATION E
CR |A—286 CRES | PASSIVATE | DRI-FILM LUBE <
CLIP MATERIAL AND FINISH DATA (SEE CN602) _SSUBSTRATE
CODE [ MATERIAL FINISH | HOLE DI
CR | XM—-28 STANLESS STEEL (UNS S24100) | PASSVATE
EXAMPLE PART NUMBER
CNeO9 CR & P ADHESIVE — N\
L OPTIONAL BASEPLATE EPOXY PRIMER
THREAD SIZE — .190-32 UNF
NUT AND BASEPLATE MATERIAL — A-286 CRES
BASIC PART NUMBER
e e e T S CARSON CITY
RS T s s s s | (D] LU [DNTD)  \gyvapa 89706
CAD CNB09-1 oS e me
ANGLES 1 | DAC osero | NUTPLATE, TWO LUG, ADHESIVE BONDED
.XX :I:.O:/) CHECKED 1)0( 2 ” QSEPOQ SIZE CAGE CODE DWG. NO. REV.
XXX 010 [m==(LY sstros | A | 66030 CN609 4
XXX 001 [== DAC OSEP09 | 7/ [ 9SEPOY [ |«




—~/

BASEPLATE

CN601 NUT FLOATS
0,75 FROM CENTER

THREAD T
THREAD LOCK BY

H MAX

|—

~— R MIN

OPTIONAL PRIMER
THIS SURFACE

g
§ "\ ELLIPTICAL DEFORMATION |
A (] H- — D DA
i \ —t NUTPLATE ATTACHED
- I[N cNg02 cLP may BE A
I CB REMOVED WITH PLIERS '
TO REPLACE NUT
MFG. 1D /
DISPOSABLE ELASTIC
FIXTURE_HOLDS NUTPLATE  \J
WHILE ADHESIVE CURES.
THREAD AND DIMENSION DATA (ALL DIMENSIONS BEFORE PAINT)
1l s ol vl & MINIMUM AXIAL | APPROX.
PART NUMBER |THREAD T | i\ | sy | iy | i | iy | U DA | TENSILE STRENGTH| WEIGHT
(kN) (GRAMS)
CN609( )4M | M4 X 0,7 | 19,0 | 11,6 | 550 | 52 | 1,6 | 4,0-55 7,6 26
CN609( )5M__ | M5 X 0,8 | 19,0 | 11,6 | 6,35 | 6,2 | 1,6 | 50-6,35 10,9 2.7
CN609( )6M | M6 X 1,0 | 24,1 | 14,1 | 7,50 | 7,0 | 16 | 6,0-7,5 19,6 48
CN609( )BM | M8 X 1,0 | 26,5 | 16,6 | 9,50 | 8,2 | 1,6 | 8,0-9,5 328 7,1
BASEPLATE. MATERIAL AND FINISH DATA NOTE: APPROX. WEIGHT WITHOUT INSTALLATION FIXTURE
CODE | MATERIAL __ | FINISH
CR_|A—286 CRES | PASSIVATE
NUT MATERIAL AND FINISH DATA (SEE CN601) SUBSTRATE R
CODE [MATERAL __[FINISH | LUBRICATION
CR_|A—286 CRES | PASSIVATE | DRI-FILM_LUBE
CLIP MATERIAL AND FINISH DATA (SEE CN602)
CODE | MATERIAL FINISH
CR_| XM=28 STAINLESS STEEL (UNS S24100) | PASSIVATE _SSUBSTRATE
HOLE DIA
il
CNBOS CR 5M P PN
L OPTIONAL BASEPLATE EPOXY PRIMER
L THREAD SIZE — M5 X 0,8
NUT AND BASEPLATE MATERIAL — A-286 CRES
BASIC PART NUMBER
T o e | e Tt e e || S CARSON CITY
B O M L\ s s | (D] LS [T \gyapa 89706
CAD CN609-2 oS o me
METRIC DIMENSIONS ™ DAC ostros | NUTPLATE, TWO LUG, ADHESIVE BONDED
ANGLES :I:‘l" CHECKED 1)0( 2 ” QSEPOQ SIZE CAGE CODE DWG. NO. REV.
X 108 | =[] ostros | A | 66950 CN609 (METRIC) | 4
XX £0,25 ™ DAC OSEP09 [ 2/1 | 9SEPO9 = 2 o 2




